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1. If the probability of a random variable X is a given

below :

X =z: -2 -1 0 1 2

3
PX==z): &+ k £ 2k 2 k

Then the value of k; is :


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_V2jKMeEUqglL

Answer: A

o Watch Video Solution

2. A random variable X takes values 0O, 1, 2, 3,.. with

1 €T
probability proportional to (z + 1) (E) :

P(X = 0) equals


https://dl.doubtnut.com/l/_V2jKMeEUqglL
https://dl.doubtnut.com/l/_FjKPXinmBoiS
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Answer: B

° Watch Video Solution

3. A random variable X' has the following probability

distribution :
Xl 0 1 2 3 4 = 7 |
POk k % | x | B Az 2

The values of k is


https://dl.doubtnut.com/l/_FjKPXinmBoiS
https://dl.doubtnut.com/l/_ptaABpVt2TPK

Answer: D

o Watch Video Solution

4. A random variable X has the following probability

distribution :

X: 1 2 3 4 5 6 7 8
P(X): 0.15 0.23 0.12 0.10 0.20 0.08 0.07 0.08

for the events E =[X is a prime number]

F = {X < 4},the probability P(EUF), is.

[ o wAr_o_L w1l _ e~_1__.0°_ ]


https://dl.doubtnut.com/l/_ptaABpVt2TPK
https://dl.doubtnut.com/l/_ysmXiSzbQ8uy
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5. A random, variable X has the following probability
distribution: X: 01234567
P(X):0 k2k 2k 3k k* 2k* 7k* + k Find each of the

following: kii. P(X < 6)iii. P( | X > 6) iv. P(O
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100
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D. —
100

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ysmXiSzbQ8uy
https://dl.doubtnut.com/l/_RBF7i4QeKqDT

6. about to only mathematics

A.0.1

B.0.2

C.0.3

D.0.4

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_RBF7i4QeKqDT
https://dl.doubtnut.com/l/_lWtfCpAJNVAm

7. A random varibale X has the following probability

distribution.

X: 12 3 4 5
P(X): 0 0.1 0.2 0.3 0.4

Find the mean.

o Watch Video Solution

8. Five coins are tossed simultaneously. The probability
that at least on head turning up, is

A.1/32

B.5/32

C.7/16


https://dl.doubtnut.com/l/_woklRbVlm2o6
https://dl.doubtnut.com/l/_YBcWUf0cZAQx

D.31/32

Answer: D

o Watch Video Solution

9. The probability that a marksman will hit a target is
given is 1/5. Then the probability that at least once hit
in 10 shots is 1 — (4/5) b.1/5% c. 1 — (1/5)"° d.

(4/5)"


https://dl.doubtnut.com/l/_YBcWUf0cZAQx
https://dl.doubtnut.com/l/_QL2EBL9h20La

D. none of these

Answer: A

o Watch Video Solution

10. The probability that an event A happens in one trial
of an experiment, is 0.4. Three independent trials of
the experiments are performed. The probability that
the event A happens atleast once, is :

A.0.936

B.0.784

C. 0.904


https://dl.doubtnut.com/l/_QL2EBL9h20La
https://dl.doubtnut.com/l/_up0GVJti6mQl

D. none of these

Answer: B

o Watch Video Solution

11. U YAPT & el 81 BT HAPT 3D HAHel 814 I & IAT
21 ITRI%dT sd AV 6 3ra & WAl § H7 I HH 4
B &l

, 496
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233
729
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D.m


https://dl.doubtnut.com/l/_up0GVJti6mQl
https://dl.doubtnut.com/l/_9KdLthM47RVQ

Answer: A

° View Text Solution

12. One hundred identical coins, each with probability
'p' of showing heads are tossed once.If 0 < p < 1and
the probability of heads showing on 50 coins is equal

to that of heads showing on 51 coins, then the value of

p is

101

50
101

51
101


https://dl.doubtnut.com/l/_9KdLthM47RVQ
https://dl.doubtnut.com/l/_qmQJPMahHxEA

Answer: D

° Watch Video Solution

13. A man takes a step forward with probability 0.4 and
backward with probability 0.6. Then find the
probability that at the end of eleven steps he is one
step away from the starting point.

A1 (0),(0.4)°(0.6)°

B.." (C)4(0.4)°(0.6)°

C..1 (C),(0.4)°(0.6)°

D.." (C),(0.4)°(0.6)°


https://dl.doubtnut.com/l/_qmQJPMahHxEA
https://dl.doubtnut.com/l/_3AloSabzKIbl

Answer: C

° Watch Video Solution

14. India play two matches each with West Indies and
Australia. In any match the probabilities of India
getting 0,1 and 2 points are 0.45, 0.05 and 0.50
respectively. Assuming that the outcomes are
independent, the probability of India getting at least 7

points is 0. 0875 b. 1 /16 c. 0. 1125 d. none of these

N
80
B
" 80

c I
i


https://dl.doubtnut.com/l/_3AloSabzKIbl
https://dl.doubtnut.com/l/_ATHZ8uK3ea5G

Answer: B

o Watch Video Solution

15. The probability of India winning a test match
againest England is 3 Assuming independence from
match to match, the probability that in a 7 match

series India's third win occurs at the fifth match, is


https://dl.doubtnut.com/l/_ATHZ8uK3ea5G
https://dl.doubtnut.com/l/_7S5G25ioyd8a

b 32
81

Answer: B

° Watch Video Solution

16. about to only mathematics

Al/4

B.1/32

C.1/16

D.1/8

Answer: B

f


https://dl.doubtnut.com/l/_7S5G25ioyd8a
https://dl.doubtnut.com/l/_Ct0NQSuHLbEl

° Watch Video Solution

17. A dice is thrown 100 times . If getting an even

number is considered a success , then the variance of

the number of successes is

A. 50

B. 25

C.10

D. 100

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Ct0NQSuHLbEl
https://dl.doubtnut.com/l/_UStSxnn2bQiK

18. In eight thows of a die 1 or 3 is considered a

success. Then, the standard deviation of success, is

©  »
Wi Wik W|oo —
| | [ o|5

0

o

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_iNj9zvImkxoD

19. A die is tossed 5 times. Getting and odd number is
cosidered a success. Then, the variance of distribution

of success, is

0N

O
| ot ot oo w w| oo

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_2o4XNaHbSpfF

20. A box contains 15 green and 10 yellow balls. If 10
balls are randomly drawn, one -by - one with
replacement, then the variance of the number of

green balls drawn, is

A12
"5

B.6

C. 4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_j8QjSOKFoHkB

Section | Solved Mcqs

1. In a box containing 100 bulbs, 10 are defective. The

probability that out of a sample of 5 bulbs, none is

5 5
defective is (A) 10-1 (B) (%) (C) (i) (D) 2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_pZ7AO0v6Rf2U

16
2. For a binomial variate X, if n = 4 and P(X=0) = 31

then P(X =4) is

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_t0BGzuGk9fl9

3. A rifleman is firing at a distance target and hence
has only 10% chance of hitting it. Find the number of
rounds; he must fire in order to have more than 50%
chance of hitting it at least once.

A1

B.9

C.7

D.5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_a67QP1yJk2bf
https://dl.doubtnut.com/l/_0GbGxWBqqEMw

4. A fair coin is tossed n times . If the probability of
getting seven heads is equal to the probability of
getting 9 heads , then the probability of getting two
heads is

A.15/28

B.2/15

C.15 /2"

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_0GbGxWBqqEMw

5. A fair coin is tossed 100 times. The probability of
getting tails an odd number of times is 1/2b. 1/8 c.
3/8 d.none of these

A1/2

B.1/8

C.3/8

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wYdcLs9y6dHT

6. A fair die is thrown 20 times. The probability that on

the 10th throw, the fourth six appears is

.20 010 X 55
620
120 x 57
B. ———
610
c 84 x 5
’ 610

A.

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4nSGxKurs8dt

7. If X has binomial distribution with mean np and

. PX=r)
variance npq, then is equal to
P(X=r-1)
A1/2
B.1/3
C.1/4

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_xj9WfOGCeWjk

8. A fair coin is tosed n times. Let X denote the
number of times head occurs. If P(X = 4), P(X = 5)
and P(X = 6) are in arithmetic progression, then the
value of n can be

A. 74

B. 10,14

C.12,7

D. 14,12

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_w4SEugwqMTlx
https://dl.doubtnut.com/l/_qCqPS3ag7Cw4

9. One hundred identical coins, each with probability
'p' of showing heads are tossed once.If 0 < p < 1and
the probability of heads showing on 50 coins is equal

to that of heads showing on 51 coins, then the value of
p is

Al/2

B.51/101

C.49/101

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qCqPS3ag7Cw4
https://dl.doubtnut.com/l/_mULL70plY37G

10. A fair coin is tossed 99 times. Let X be the number

of times heads occurs. Then (P(X=r) is maximum when r

IS

A. 49,50

B. 50,51

C. 51,52

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mULL70plY37G

11. A coin is tossed n times. The probability of getting

head atleast once is greater than 0.8. Then the least

value of such n is

A7

B.6

C.5

D.3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_c3YeWEMfs1VT

12. If the mean and the variance of a binomial variate X
are 2 and 1 respectively, then the probability that X
takes a value greater than one is equal to .....

A.2/3

B.4/5

C.7/8

D.15/16

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_jKoQGYmpqrhN

13. A biased coin with probability p,0 < p < 1, of
heads is tossed until a head appears for the first time.
If the probability that the number of tosses required is
even is 2 /5, then p is equal to

A1/3

B.2/3

c.2/5

D.3/5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_f1Sbtvf6bskc
https://dl.doubtnut.com/l/_s3sihyiQNw3G

14. If X follows a binomial distribution with parameters

n=8and p =1/2,then p(|z — 4| < 2) is equal to :

118
128

119
128

17
" 128

D. none of these

Answer: B

° Watch Video Solution

15. If X follows a binomial distribution with parameters

1
n = 100 and p = 3 then P(X=r) is maximum, when r


https://dl.doubtnut.com/l/_s3sihyiQNw3G
https://dl.doubtnut.com/l/_tTyGQsIam2yZ

equals

A. 32

B.34

C.33

D. 31

Answer: C

o Watch Video Solution

16. A fair die is tossed eight times. The probability that

7010 X 57

o b.

a third six is observed in eight throw is

702 X 52 c 702 X 55

: - d. none of these
6 6



https://dl.doubtnut.com/l/_tTyGQsIam2yZ
https://dl.doubtnut.com/l/_DThRtnNZDGLo

.7 Cz X 55
67

.7 Cz X 55
68

.7 Cz X 55
66

A.

D. none of these

Answer: B

o Watch Video Solution

17. Four digit numbers with different digits are formed
using the digits 1, 2, 3, 4, 5, 6, 7, 8. One number from
them is picked up at random. The chance that the

selected number contains the digit '1" is


https://dl.doubtnut.com/l/_DThRtnNZDGLo
https://dl.doubtnut.com/l/_03egrJwhILGF

A.1/8
B.1/4
C.1/2

D. none of these

Answer: C

o Watch Video Solution

18. A die is thrown 2n + 1 times, n € N . The
probability that faces with even numbers show odd

number of times is :


https://dl.doubtnut.com/l/_03egrJwhILGF
https://dl.doubtnut.com/l/_lOjrktRFka3V

@
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@)
V
(CY I CY

D. none of these

Answer: A

o Watch Video Solution

19. A fair coin is tossed repeatedly. The probability of
getting a result in fifth toss different from those
obtained in the first four tosses is

A1/2

B.1/32


https://dl.doubtnut.com/l/_lOjrktRFka3V
https://dl.doubtnut.com/l/_c38wodf6DOzP

C.'31//32

D.1/16

Answer: D

o Watch Video Solution

20. An ordinary dice is rolled a certain number of
times. If the probability of getting an odd number 2
times is equal to the probability of getting an even
numebr 3 times. Then the probability of getting an

odd number and odd number of times, is

A.1/32


https://dl.doubtnut.com/l/_c38wodf6DOzP
https://dl.doubtnut.com/l/_P9RNYMWsgZKh

B.5/16
C.1/2

D. none of these

Answer: C

o Watch Video Solution

21. A coin is tossed 2n times. The chance that the

number of times one gets head is not equal to the

. o (2n) [1\™
number of times one gets tails is — b.

(n1)* \ 2
(2n!) (2n!) 1
1— c.1— d. none of these

(n!)’ (n!)? (4")

1 2n
2n
cm(d)



https://dl.doubtnut.com/l/_P9RNYMWsgZKh
https://dl.doubtnut.com/l/_ees76AgIoSMW

B.1—.2"C,

1
c.1-."C, (—n)
4

D. none of these

Answer: C

o Watch Video Solution

22. A card is drawn from a pack of 52 playing cards. The
card is replaced and the pack is reshuffled. If this is
done six times. The probability that 2 hearts, 2

diamond and 2 black cards are drawn is


https://dl.doubtnut.com/l/_ees76AgIoSMW
https://dl.doubtnut.com/l/_m24KRCh5Euhf

N 3\?
) 4
1 10
C. —
90 x (2)

D. none of these

Answer: C

o Watch Video Solution

23. From a box containing 20 tickets marked with
numbers 1 to 20, four tickets are drawn one by one.
After each draw, the ticket is replaced. The probability

that the largest value of tickets drawn is 15 is.

~(3)


https://dl.doubtnut.com/l/_m24KRCh5Euhf
https://dl.doubtnut.com/l/_7WSp7Lm9oFyE

5. 2T
320

C 27
1280

D. none of these

Answer: B

o Watch Video Solution

24. A coin is tossed 3 times by 2 persons. The prbability
that both get equal number of heads, is

A.3/8

B.1/9

C.5/16


https://dl.doubtnut.com/l/_7WSp7Lm9oFyE
https://dl.doubtnut.com/l/_NYUsTr0XS0p1

D. none of these

Answer: C

o Watch Video Solution

25. The mean and the variance of a binomial
distribution are 4 and 2 respectivelythen, the
probabitly of 2, successes is

A. 28 /256

B. 219 /256

C. 128 /256

D. 37 /256


https://dl.doubtnut.com/l/_NYUsTr0XS0p1
https://dl.doubtnut.com/l/_Ww2ARoYWvIpX

Answer: A

o Watch Video Solution

26. If two coins are tossed five times, thenthe
probability of getting 5 heads and 5 tails is

A. 63 /256

B.1/1024

C.2/205

D.9/64

Answer: A

[ o Watch Video Solution


https://dl.doubtnut.com/l/_Ww2ARoYWvIpX
https://dl.doubtnut.com/l/_fm8rEHVQn0NS

27. If X and Y are independent binomial variates

1 1 ,
A (5, 5) and B(7, 5). Find the value of P(X+Y=3).

A.35/47
B. 55 /1024
C.220/512

D. 11 /204

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_fm8rEHVQn0NS
https://dl.doubtnut.com/l/_UFco8N1jsg6B

1
28. In a binomial distribution B(n,p = Z) , if the

probability of at least one success is greater than or

equal to 10 then n is greater than (1)
1
4
(log)1y — (log)io

1
(2) 4 3
(log)lo "5 (log)lO

(3) 4 3
(log) 10 — (log) 10
4

4 3
(10g) 10 — (10g) 10

1
A.
log,,4 — log;, 3
1
B.
log,,4 + log;, 3
9
C.
log,,4 — log;, 3
4
D.
log,,4 — log;, 3

(4)



https://dl.doubtnut.com/l/_FmvdpjPMToT9

Answer: A

o Watch Video Solution

29. Two cards are drawn successively with replacement
from a well shuffled deck of 52 cards, then the meanof
the number of aces is

A1/13

B.3/13

C.2/13

D. none of these

Answer: C


https://dl.doubtnut.com/l/_FmvdpjPMToT9
https://dl.doubtnut.com/l/_5JPkF1GnATm3

o Watch Video Solution

30. A dice is thrown 100 times . If getting an even

number is considered a success , then the variance of

the number of successes is

A.10

B. 25

C.18

D. 12

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5JPkF1GnATm3
https://dl.doubtnut.com/l/_Lr4HIHTBTeXY

31. There are 12 white and 12 red ball in a bag. Balls are
drawn one by one with replacement from the bag. The
probability that 7th drawn ball is 4th white, is

Al/4

B.5/32

C.3/16

D.5/16

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Lr4HIHTBTeXY
https://dl.doubtnut.com/l/_vrG61vPqsGmY

32. A die is rolled thrice . If the event of getting an
even number is a success , then the probability of
getting atleast two sucessess is

A.7/8

B.1/4

c.2/3

D.1/2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_yChoESki2nPb

33. IF the mean and the variance of a binomial
distribution are 4 and 3 respectively then the

probability of six successes is

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_reZx1TG2LTc4

34. The sum of mean and variance of a binomial

distribution is 15 and the sum of their squares is 117.

Determine the distribution.

A 6

B.9

C.3

D. 12

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rdGLyN0IzVq0

35. Consider 5 independent Bernoulli's trials each with
probability of at least one failure is greater than or

31
equal to VR then p lies in the interval

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_IlroeHp6PU7u

36. A random variable X takes values —1, 0, 1, 2 with

143 1—p 1+2p —14dp
4 ' 4 4 4

probabilities
respectively, where p varies over R. Then the
minimum and maximum values of the mean of X are

respectively

1
A —% and 5
1 5
B —1—6 and 1_6
7 5
C 1 and 6
1 5
D —1—6 and Z
Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_eYGn7ZrzHMIQ

37. A multiple choice examination has 5 questions.
Each question has three alternative answers of which
exactly one is correct. The probability that a student

will get 4 or more correct answers just guessing is

17
3
13
3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_uTAEEeoJmfaY
https://dl.doubtnut.com/l/_q1uqhFQzg1d8

38. about to only mathematics

A7

B.9

C.8

D.5

Answer: C

o Watch Video Solution

39, U TRINT & el &l Pl JIPT 3P 3Hel g4 I al
AT &1 RGBT SITd oIV 6 30Tl & WeIevl & &1 I BH 4

B gl


https://dl.doubtnut.com/l/_q1uqhFQzg1d8
https://dl.doubtnut.com/l/_shnKmgdgBf3u

A 192
729

256
729
240
" 729

5 4962
- 729

C

Answer: B

o View Text Solution

Section li Assertion Reason Type

1. Statement -1 : The probability of getting a tail most

of the times in 10 tosses of a unbiased coin is


https://dl.doubtnut.com/l/_shnKmgdgBf3u
https://dl.doubtnut.com/l/_AtaSyWhVx76r

1 ] 10!
2] o5 [
Statement -2:

2nCy+ 2nCi+ 2nCy+....20C,=2>n—1,neN

AT
B.2
C.3

D.4

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_AtaSyWhVx76r

1. A random variable has the following probability
distribution:

X=z;: 01234567

P(X =x;):0 2p 2p 3p p* 2p° Tp* 2p

The value of pis
1

* 10

b.—1

1

C._]._O


https://dl.doubtnut.com/l/_xNvJPA0w33KY

C.—1/10

D. none of these

Answer: A

o Watch Video Solution

2. If X is a random variable with probability
distribution as given below: X =2;: 012 3
P(X =uz;):k 3k 3k k The value of k and its
variance are 1/8,22/27b. 1/8,23/27 c. 1/8,24/27

d.1/8,3/4

A1/8,22/27


https://dl.doubtnut.com/l/_xNvJPA0w33KY
https://dl.doubtnut.com/l/_6PVsfB9WMWax

B.1/8,23/27
C.1/8,24/27

D.1/8,3/4

Answer: D

o Watch Video Solution

3. If in a distribution each x is replaced by
corresponding value of f(z), then the probability of
getting f(x), when the probability of getting x;isp;,

is.

A. Di


https://dl.doubtnut.com/l/_6PVsfB9WMWax
https://dl.doubtnut.com/l/_U4Ero19qF3l7

B. f(pi)

)

D. none of these

Answer: A

o Watch Video Solution

4. A man takes a step forward with probability 0.4 and
backward with probability 0.6. Then find the
probability that at the end of eleven steps he is one

step away from the starting point.

A..C¢ _(6)(0.24)°


https://dl.doubtnut.com/l/_U4Ero19qF3l7
https://dl.doubtnut.com/l/_7joYoPUYaQ7N

B..1! C4(0.4)%(0.6)°
c..11 C5(0.6)°(0.4)°

D. none of these

Answer: A

o Watch Video Solution

5. The probability that a man can hit a target is 3/4.
He tries 5 times. The probability that he will hit the
target at least three times is

A. 291/364

B.371/464


https://dl.doubtnut.com/l/_7joYoPUYaQ7N
https://dl.doubtnut.com/l/_n1anKz8kS3fi

C.471/502

D. 459/512

Answer: D

o Watch Video Solution

6. Six ordinary dice are rolled. The probability that at

least half of them will show at least 3 is

D. none of these


https://dl.doubtnut.com/l/_n1anKz8kS3fi
https://dl.doubtnut.com/l/_xPdGbQj75MF3

Answer: A

o Watch Video Solution

7. Two persons each makes a single throw with a pair
of dice. Find the probability that the throws are

unequal.

D. none of these

Answer: C


https://dl.doubtnut.com/l/_xPdGbQj75MF3
https://dl.doubtnut.com/l/_jjA189lGbwnZ

o Watch Video Solution

8.If the range ot a random vaniabie X is 0, 1, 2, 3, at

P(X =K) = (K—Zl) afork > 0, then a equals
3

>

@
(\V) Ol W N
) ©f &

N

D. (16)/(81)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jjA189lGbwnZ
https://dl.doubtnut.com/l/_yEOcGvchMcrh
https://dl.doubtnut.com/l/_HANEVgTt0kaT

9. An experiment succeeds twice as often as it fails.
Find the probability that in the next six trails there will

be at least 4 successes.

64
729

192
729

240
79

496
D. —
729

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_HANEVgTt0kaT

10. The probability that a candidate secure a seat in

1
Engineering through EAMCET is 1—OSeven candidate

are selected at random from a centre.The probability
that exactly two will get seats is

A.15(0.1)%(0.9)°

B. 20(0.1)%(0.9)°

C.21(0.1)%(0.9)°

D. 23(0.1)%(0.9)°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_MIVUq2aH5sUf
https://dl.doubtnut.com/l/_TNAhVz2jLdzA

11. Six coins are tossed simultaneously. The probability
of getting at least 4 heads, is

A.11/64

B.11/32

C.15/44

D.21/32

Answer: B

o Watch Video Solution

12. about to only mathematics


https://dl.doubtnut.com/l/_TNAhVz2jLdzA
https://dl.doubtnut.com/l/_5h5QvZ6CdhPU

A
5.
<

D. none of these

9 6
)
8 7
)
3 5
5)

Answer: D

o Watch Video Solution

13. Two players toss 4 coins each. The probability that
they both obtain the same number of heads is a.

5/256b.1/16 c.35/128 d. none of these

A.5 /256


https://dl.doubtnut.com/l/_5h5QvZ6CdhPU
https://dl.doubtnut.com/l/_YRuXgsDa8s24

B.1/16
C.35/128

D. none of these

Answer: C

° Watch Video Solution

14. A box contains 24 identical balls of which 12 are
white and 12 are black. The balls are drawn at random
from the box one at a time with rplacement. The
probability that a white ball is drawn for the 4th time

on the 7th draw is


https://dl.doubtnut.com/l/_YRuXgsDa8s24
https://dl.doubtnut.com/l/_BYZQ340Ntyd1

A.5 /64
B. 2732
C.5/32

D.1/2

Answer: A

o Watch Video Solution

15. Two dice are tossed 6 times. Then the probability

that 7 will show an exactly four of the tosses , is

A 225
" 18442
116
B.

20003


https://dl.doubtnut.com/l/_BYZQ340Ntyd1
https://dl.doubtnut.com/l/_O71dHUIR7UGN

125

. 15552

D. none of these

Answer: C

o Watch Video Solution

16. If X follows a binomial distribution with parameters
n=6and p.If4P(X = 4)) = P(X = 2) ,then P =
Al/2
B.1/4
C.1/6

D.1/3


https://dl.doubtnut.com/l/_O71dHUIR7UGN
https://dl.doubtnut.com/l/_EwclGrda8rRa

Answer: D

o Watch Video Solution

17. The number of times a die must be tossed to

obtain a 6 at least one with probability exceeding 0.9

is at least

A 13

B.19

C. 25

D. none of these

Answer: A


https://dl.doubtnut.com/l/_EwclGrda8rRa
https://dl.doubtnut.com/l/_kpA7DHLyVin9

o Watch Video Solution

18. Seven chits are numbered 1 to 7. Four chits are
drawn one by one with replacment. The probability
that the least number appearing on any selected chit

is5is:

Answer: A

| &


https://dl.doubtnut.com/l/_kpA7DHLyVin9
https://dl.doubtnut.com/l/_xXdzehCHt2F2

[ W Watch Video Solution J

19. If the mean of a binomial distribution is 25, then

its standard deviation lies in the interval

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_xXdzehCHt2F2
https://dl.doubtnut.com/l/_IoQPlzVgm9qJ

20. The value of C for which P(X = k) = Ck? can
serve as the probability function of a random varibale

X that takes value 0, 1, 2, 3, 4, is

A—
30
B, —
10
cs
3
p. —
15
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ynIK8W1jWTZY

21.1n order to get a head at least once with probability

> 0.9, the minimum number of timesa unbiased coin

needs to be tossed is

A3

B.4

C.5

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_WQeh8vyoyUgJ

22. The probability that a man will hit a target in
shooting practise is 0.3. If he shoots 10 times, the

probability that he hits the target, is

AT

B.1— (0.7)"

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JWkW8uYj0lk0

23. If A and B each toss three coins. The probability

that both get the same number of heads is

A1/9

B.3/16

C.5/16

D.3/8

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_MIWM6QvsXI69

24. In a box containing 100 bulbs, 10 bulbs are
defective. Probability that out of a sample of 5 bulbs,

none is defective, is

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Bh9YxBBhOnh7

25. The box contains tickets numbered from 1 to 20.
Three tickets are drawn from the box with
replacement. The probability that the largest number

on the tickets is 7 is 2/19 b. 7/20 c. 1 — (7/200)* d.

none of these

3
c1-(—
(=)

D. none of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_NgoOAS8qS32r

26. An unbiased coin is tossed is tossed a fixed number
of times. If the probability of getting 4 heads equals
the probability of getting 7 heads, then the probability

of getting 2 heads, is

55
2048

3
" 4096

1
1024

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GfVbZzfSTaF9
https://dl.doubtnut.com/l/_HRqKPbpN4IXN

27. A coin is tossed n times. The probability that head

will turn up an odd number of times , is

2" —-1-1
D.
2n

Answer: A

o Watch Video Solution

28. Two coins are tossed five times. The probability

that an odd number of heads are obtained, is


https://dl.doubtnut.com/l/_HRqKPbpN4IXN
https://dl.doubtnut.com/l/_97Y46NUOJPGI

>

g oflw /N

|
~_
Ot

@

0

D. none of these

Answer: D

° Watch Video Solution

29. A six-faced dice is so biased that it is twice as likely
to show an even number as an odd number when
thrown. It is thrown twice, the probability that the

sum of two numbers thrown is even is


https://dl.doubtnut.com/l/_97Y46NUOJPGI
https://dl.doubtnut.com/l/_or3w2PPIqMuh

A.4/9
B.5/9
C.1/9

D. none of these

Answer: B

° Watch Video Solution

30. A fair coin is tossed n times. if the probability that
head occurs 6 times is equal to the probability that

head occurs 8 times, then find the value of n.

A7


https://dl.doubtnut.com/l/_or3w2PPIqMuh
https://dl.doubtnut.com/l/_VPlATbJSOaLL

B.14

C.16

D. 19

Answer: B

o Watch Video Solution

31. An unbiased coin is tossed n times. Let X denote
the number of  times head occurs. If
P(X =4), P(X =5) and P(X = 6) are in AP, then

the value of n can be

A 714


https://dl.doubtnut.com/l/_VPlATbJSOaLL
https://dl.doubtnut.com/l/_A7uy15sIVeuu

B. 10,14

C. 12,7

D. none of these

Answer: A

o Watch Video Solution

32. A fair coin is tossed is fixed number of times. If the
probability of getting 4 heads equals the probability
of getting 7 heads, then the probability of getting 2

heads, is

A. 55 /2048


https://dl.doubtnut.com/l/_A7uy15sIVeuu
https://dl.doubtnut.com/l/_8NtWtTNfvNwk

B.1/1024
C. 3/4096

D. none of these

Answer: A

o Watch Video Solution

33. A carton contains 20 bulbs ,5 of which are
defective. The probability that,if a sample of 3 bulbs in
chosen at random from the carton, 2 will be defective,

is

A1/16


https://dl.doubtnut.com/l/_8NtWtTNfvNwk
https://dl.doubtnut.com/l/_QKzz34L1fZsh

B.3/64
C.9/64

D.2/3

Answer: C

° Watch Video Solution

34. In a precision bombing attack, there is a 50%
chance that any one bomb will strike the target. Two
direct hits are required to destroy the target
completely. The number of bombs which should be
dropped to give a 99% chance or better of completely

destroying the target can be 12b.11 ¢c. 10d. 13


https://dl.doubtnut.com/l/_QKzz34L1fZsh
https://dl.doubtnut.com/l/_adAUCdRhBceS

A. 10

B. 11

C.12

D. none of these

Answer: A

o Watch Video Solution

35. The probability of a man hitting a target is 1/4. How
many times must he fire so that the probability of his

hitting the target at lest once is greater than 2/3?

A3


https://dl.doubtnut.com/l/_adAUCdRhBceS
https://dl.doubtnut.com/l/_XfN3CmM2btbi

B.4

C.5

D. none of these

Answer: B

o Watch Video Solution

36. IF the mean and S.D. of binomial distribution are 20

and 4 respectively. Than the number of trials , is

A. 50

B. 25

C.100


https://dl.doubtnut.com/l/_XfN3CmM2btbi
https://dl.doubtnut.com/l/_JNgTVpAihX6x

D. 80

Answer: B

o Watch Video Solution

37. The probability of India winning a test match
against West Indies is 1/2. Assuming independence
from match to match, find the probability that in a
match series India's second win occurs at the third

test.

A1/8

B.1/4


https://dl.doubtnut.com/l/_JNgTVpAihX6x
https://dl.doubtnut.com/l/_BgSIldFFt0pq

C.1/2

D.2/3

Answer: B

o Watch Video Solution

38. The mean and standard deviation of a binomial

variate X are 4 and /3 respectively. Then |,

P(X >1) =

o >
— =
| |
/N N
Wl Blw |
N— ~—
— —
(=2} (=2}

@)
[
|
N
N~
[
D


https://dl.doubtnut.com/l/_BgSIldFFt0pq
https://dl.doubtnut.com/l/_9IRgcCrTx6GX

16
o1 (3)
3

Answer: B

° Watch Video Solution

39. The probability distribution of a random variable X

is given by.

X ==zx: o 1 2 3 4
P(X==z): 04 03 0.1 0.1 0.1

The variance of X, is

A.1.76
B.245

C.3.2


https://dl.doubtnut.com/l/_9IRgcCrTx6GX
https://dl.doubtnut.com/l/_myOUIiCwIoZN

D.4.38

Answer: A

° Watch Video Solution

40. For a binimial variate X with n=6,

135 . : :
P(X = 4) = — then its variance is
2

A.8/9
B.1/4
C.9/8

D.4


https://dl.doubtnut.com/l/_myOUIiCwIoZN
https://dl.doubtnut.com/l/_EGbVNpIWcNyo

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_EGbVNpIWcNyo

